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1. Complete the sentences.

(d)

watering can bottle

The holds the least amount of water.

The holds the most amount of water.

The capacity of the watering can is [ less than the

capacity of the pail.

The capacity of the pail is [ more than the

capacity of the bottle.

The total capacity of the pail, watering can and bottle is
l.
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2. Look at the picture

Container A Container B Container C

Which container holds the most water? Why?

3. Complete with “more” or “less”.

=

Water is poured from the 1-litre beaker into the bowl. Now, the bowl
is full of water, but there is still water left in the beaker.

The bowl can hold than 1/ of water.
e A
= v (AN
A, | can do the worksheet  B. | need a little help C. I need a lot of help
by myself
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